QuEsTION 3

Divide the following algebraic expressions.

a (-24)x+8= b (—6ab)+3a =
¢ 38xZy+19x% = d (~15x%)+(-5x) =
e 27x'y?+9x’y = f (—16k)+(—4k) =
g (-52x°)+(-13) h (-36y)+(-3) =
i 20pg+—4p = j 50mn=+5m =
QuesTioN1  Work out the following divisions.
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QUESTION3  Work out the following divisions.
a (-27x*)+(3x%) = b 15ab+(-3a°) =
¢ l6xy+(-16xy) = d 35a°b’c? +5abc =
e 24ab+t4a+2b= f 56t =8t =
g 48x%y%+dxy +3x = h 10ab+-2a =
i 15xy +6xy = j 15abc +-3bc =
1 Express these algebraic fractions in simplest form.
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QuEesTIoNS  Simplify the following.
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